HSSC CET Group 56 Question Paper 17 August 2024

18 a silicon chip which

contains entire electronic circuit on a

very small area.

(A) Turing Machine %{fﬁ]
s r.,':‘:
(B) Pascaline - msflflil

(C) Integrated Circuit
(D) Transistor

(E) Not attempted

Which of the following is the largest
Saltwater lake in the world ?

(A) Chilka
(C) Lake Victoria (D) Michigan

(B) Caspian Sea

(E) Not attempted

The average resistance force that must
act on a Skg mass to reduce its speed
from 65cm/s to 15cm/s in 0.2s is

(B) 25N
(D) 12.5N

(A) 100N
(C) SON
(E) Not attempted

If the seventh day of a month is three
days earlier than Friday, what day
will it be on the nineteenth day of the

month ?

(A) Sunday
(B) Monday
(C) Wednesday
(D) Friday

(E) Not attempted

CG - CGL24

; up fferptr fom 2 Forasd 07
gd & B2 A g el 2.
arar &l

(A) It wafla

(B) 9TEhetTed

1.

2. Prefofaa 3§ § BA- ghen 6 w=E =2
@Ryt Hr e g 7

(A) Fereet B) hferEd dTH
() frdiften s (D) T
(E) 9T

3. 3NEa gfeiaes 9 I 5 f5. 1. SIEH <l
1fr F 0.2 e F 65 /A A 15 TH/F

R o % AT 35 T e SEEE 8
(A) 100N (B) 25N

(C) SON (D) 12.5N

(E) 79T

4. 3R fredf 7 1 Aaat fe YohaR &
foq gt 8, @ HER % IEEd fgT wh-E

RARM 7 (g, 7 s
B) dER

i) (C) T

" (D) wEER
(E) 3vamtyd
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5. This protected area contains one of

the last surviving remnants of the
Delhi Ridge hill range

(A) Bhindawas Wildlife Sanctuary
(B) Nahar Wildlife Sanctuary

(C) Asola-Bhatti Wildlife Sanctuary
(D) Abubshahar Wildlife Sanctuary
(E) Not attempted

Consider the following statements and
choose the right option given below.

1. Comptroller and Auditor General
of India (CAG) is responsible for

compilation and preparation of

the accounts of the Government
of Haryana.

2. This function is discharged through
the office of the Accountant General
(A & E) Haryana.

(A) Only the statement 1 is correct
(B) Only the statement 2 is correct

(C) Both the statements 1 and 2 are
in-correct

(D) Both the statements 1 and 2 are
correct

(E) Not attempted

. In which year was the South Asian
Association for Regional Co-operation

(SAARC) established ?

(A) 1980 ?%%
(B) 1990 ¢S
(C) 1985
(D) 1998

(E) Not attempted

CG - CGL24

5. 39 it & i fegh Fren wardl 2Avft %
Fifem Shifera 3rag 2
&) EEE g=sfla 3aned
(B) A& TS A

%ﬁ%&@ (C) STHAT-WE T=sfia WA
s

:
~ (D) STEEIE TSI AN

(E) 79T

6. Frmfifaa woEi W fem & R F= feu
T TE ferehed 1 T |

1. WA & Faes wg weredn qiiersh
(CAG) BRI HTHR & i@l 5 Heber
3t darh & foe iR 2 |

0. I8 F TEEEHR (A & E) SR %
Fatdd % areay o foRa S 2 |

(A) Faet YT 1 TE 2

(B) el HU 2 TE B

(C) ST YA 1 37X 2 7TeId B
(D) Q1 % 1 3R 2 FE B
(E) TAmiéd

7. it ofiEs &s 98anT §1eH (SAARC)
<t o form a9 g3 ot ¢

(A) 1980
(B) 1990
) 1985

(D) 1998
(E) AT
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8. The earth will be very close to the sun on

(A) 21t June (B) 4" July
(C) 23™ September (D) 3 January
(E) Not attempted

Which of the following is another
name of Platelets ?

(A) Thrombocytes
(B) Erythrocytes

(C) Leucocytes

(D) None of the above

(E) Not attempted

If U is the universal set with 100
elements, A and B are two sets such
that n(A) = 50, n(B) = 60, n(AnB) = 20
then n(A'NB’) =
(A) 40

(C) 90

(E) Not attempted

10.

B I
ni-67

(By 20 NPT

(D) 10

11. The mean of first six multiples of 4 is
(A) 13.5

(B) 14.5

(C) 14

(D) 16

(E) Not attempted

Who is the Chairman of the 16"

Finance Commission ?

12.

(A) Nirmala Sitharaman
(B) Dr. Arvind Panagariya
(C) N. K. Singh

(D) None of the above

(E) Not attempted

8. guft 1 7 % e faehe 2
- (A) 2170 B) 4 I
J(C) 23 faas (D) 3 SFA
’:6-* (E) TSt
.t # @ ST @ B
am e ?
AT YT
(B) TRETEH
(C) TIHIETECH
(D) 39 H | HIZ el
(E) AuTiEd

10. Ff U 100 dcdl G Teh ATEHIH
=g 2l A 3R B <1 08 gg==d 2 T
n(A) = 50, n(B) = 60, n(AnB) = 20 a
n(A'’nB’) =
(A) 40
(C) 90
(E)

(B) 20
(D) 10

4 % YUH 6 TUISI T AT HT 8 7
(A) 13.5 g 3 uiu. 20 2
(B) 14.5

A€) 14
(D) 16
(E) 3rwarféd

16 9 fam 3190 & =T S § 7
(A) e darmE

11,

12.

llr

R ctB) <. e wmfen

(C) @. . f&z
(D) ITed H | HIE 78
(E) 9amird
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13. The inscription which gives details

about the expedition
‘ _ s of
king of Orissa is T T

(A) Aihole inscription

(B) Allahabad pillar inscription
(C) Hatigumpha cave inscription
(D) Halmidi inscription

(E) Not attempted

Presenting someone else’s idea or
work as one’s own idea or work is

called

(A) Theft

(C) Copy

(E) Not attempted

14.

(B) Copyright
(D) Plagiarism

15.
significant increase in agricultural

growth ?

(A) White Revolution
(B) Silver Revolution
(C) Green Revolution
(D) Blue Revolution
(E) Not attempted

district of Haryana has

16.
highe;st road density.
(A) Panchkula (B) Faridabad
(C) Jind (D) Ambala

(E) Not attempted

Which of the following day is
celebrated as National Endangered

I-!'_,,‘,l

17.

Species Day ?

(A) 2rd Friday of June
(B) 3 Friday of May

(C) 3¢ Monday of March
(D) 274 Monday of June
(E) Not attempted

What is the term used to describe the

CG - CGL24

13. a8 herE Rl s F o @A F
sfrrt & a3 fereor fm T 2
PR CEIESC
(B) 3ITETTE WY A «
() ErRfige Tt ST
(D) EOWE IIhe@ x

(B) TG Shifd
(e gia shifd
(D) Hreft wifd
(E) ST
16. B0 % i o walfus 98
Tl 2l
(A) T {B)tﬁ_ﬂ‘q’ﬁm
OREE P FETET ,
(E) TSR .
17. Peffed § @ SH-T1 i T g =
ety feam % w9 o wHE SR 2
(A) ST T qHU N
(B) |3 hT dIEU IEHAR
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18.

19,

20.

21.

If tan 0 =+/3, then sec 8§ =
2
A aflem
(A) B
(B) 2
() ¥3
2 —t/[3
(D) None of these P i.-j.'l:":?'é
44

(E) Not attempted

The general solution of cot0 + tan@ = 2 is
nmn
2 i T
(A) 6 = +(=1)" 7
(B) 6= 92—"-+{-1)" m

(C) 8= —2- S i

4
(D) 8 =nr+(-1) “8

(E) Not attempted

Which of the following Articles of the
Indian Constitution deals with the
Finance Commission ?

(A) Article 280

(B) Article 128

(C) Article 112

(D) None of the above

(E) Not attempted

Which of the following is the capital
city of Jharkhand ?

(A) Bhubaneswar

(B) Aizawl

(C) Shillong

(D) Ranchi

(E) Not attempted

19, cut9+tanﬂ=2ﬁ:"r‘élTﬂTF5l_é't"l%

N n
(A) 9=‘§‘+(‘1) ng
(B) 0="-+(-1" %
©) 0=TF+-11

(D) 6=nm+(-1)" T
(E) T991Rd

340
¥
20. YR gfaym %1 Fefefea & 9 $59-
g ford T & dafE 2 2
AT 3T3=8g 280
(B) 31d=5q 128

(C) =g 112
(D) IR § § HI$ T
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22. To provide relief to the flood victims of

23.

24.

25.

Kedarnath, the operation launched by
the Indian Army in 2013 is known as

(A) Operation Surya Hope
(B) Operation Vijay

(C) Operation Polo

(D) Operation Holy Land
(E) Not attempted

identity operator evaluates
True if the variables on either side of

the operator point towards the same

memory location and False otherwise.

(A) in (B) not in
(C) is (D) is not
(E) Not attempted

‘NDMA’ stands for

(A) New Disaster Management Act

(B) National Disaster Managing
Amendment

«AC) National Disaster Management

Authority G483 E

(D) Neurological Disorder AT
Management Authority [s]55=

(E) Not attempted

is the 1%t excavated site of
‘Hakra Culture’ in Haryana.

(A) Kalibangan
(B) Mitathal
(C) Rakhigarhi
(D) Kunal

(E) Not attempted

23,

24.

25.

CG - CGL24

% fo1u meflT &= gro 2013 1 3% TR
T P 3w A § S S 2

(A) TR 77 &

o/(B) TR forsr

?@%% (C) HATRIH drel

(D] AT greht o

(E) 9T

RS AT Tl
edTeh hidl @ Al TR & gHI 3

aftegew 36t wifa @@ i 3R 3fa =
3 31=re TTer|

(A) in (B) not In
(C) is (D) is not

‘NDMA’ 1 forga 9 2

(A) = feamret BHme e

(B) et feameex Al wige
ey Avea feamet Baeme e
(D) =Reiioehet femameEt Aswe rftie
(E) 3TS=TEa
BTN 1 BIRU {1 <l
Ugelt Iea@fa T R

NEEGIER]

(B) Hiarys

(C) TEftTet

AD) UM
(E) 3w
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26.

27.

28.

29,

Consider the following statements
and choose the right option given
below.

1. Total cost per unit of output is
called Average cost,

2. Total revenue per unit of output
is called Average revenue.

(A) Only the statement 1 is correct
(B) Only the statement 2 is correct

(C) Both the statements 1 and 2 are
incorrect

(D) Both the statements 1 and 2 are
correct

(E) Not attempted

Rohan ranks seventh from the top
and twenty sixth from the bottom in
a class. How many students are there
in the class ?

(A) 31
(B) 32
(C) 33

R TA0)
(D) 34 i&_ﬁ{g
(E) Not attempted J fin

The iron ore known as black ore
(A) Limonite (B) Hematite
(C) Magnetite (D) Siderite

(E) Not attempted

n
If 3x1.2" = 1728, then  is equal to

(A) 6 (B) 4
(C) 3 (D) 2
(E) Not attempted

e et farehe @ T |

. FeqTE i uf g F AT H
3fraa ST el T 2 |

2. Jere i i 3obTE e T
3itad TsTe T Al @ |

(A) Fa HYT 1 TE B

(B) Shael YA 2 Hal @

(C) 2T YA 1 3TN 2 7T 2

27. e T el H HR Y G UH W 3N
9 vl T W R | HE § foeaR

BT 7
(A) 31

LAB) 32
(C) 33

Lis

7406
7446
12

28. g 30&h S8 e 3k ot 2 2

(A) TermTse
) Berse
(E) 3tvaTiEd

(B) BHITSE

(D) fatse

n
29. i 3=1.27=1728 , @  fras

U e 7
(A) 6
(C) 3

(E) 3r9aiiaa

(B) 4
(D) 2
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30. 1 ‘is the design of a database.

(A) Relational Database Management
System

(B) Database Schema
(C) Control Flow Diagrams
(D) Data Flow Diagrams
(E) Not attempted

31. If.the vertica] angle of an isosceles
triangle is 70°, each base angle is of
measure .
(A) 50° (B) 55° |y’
(C) 60° (D) 65°
(E) Not attempted

32. Choose the missing term out of
given alternatives for the given alpha
numerical series,
275, 7Y7, 14X9, 23W11, 34V13, ?
(A) 27U24
(B) 45U15
(C) 47U15 ShtdD
(D) 45V14 =752
(E) Not attempted
In a certain code, the codes for

33.

sentences given in Column — i are given
in Column — II. Each word has unique

code. Answer the questions based on
these.
Column - I
1. keep quite good nice
2. good bad are not same
3. nice days are good
4. keep same days good

Column - II
la sa da ka
na da ra pa me

da la pale
ka le na da

What is the code for ‘keep’ ?
(A) le (B) ka

(C) da (D) na

(E) Not attempted

32, < T 3 HEATEH F@en & e i
T ferepedt § | < WG A |
275, 7Y7, 14X9, 23W11, 34V13, ?
(A) 27U24 '
(B) 45U15
L{€) 47U15
(D) 45V14
(E) JTSATad

33. w@ﬁ,m‘mﬂ—lﬁﬁqwaﬁﬁ%
e Fad — 117 fE T 8| e I 1
el B¢ 21 3 SATUR T I H IT

SN
i - 1 FieH - 11
1. keep quite good nice la sadaka
2. good bad are not same na da ra pame
3. nice days are good da la pa le
4, keep same days good ka le na da
‘keep’ g % fotu EERL 27
(A) le (B) ka keep 3004
{C) da (D) na o2 Ka
(E)

B
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A market consisting of more than one
(but few) sellers is called as

(A) Isoquant

(B) Monopoly

(C) Oligopoly

(D) None of the above
(E) Not attempted

. (C) IFAUTIHHT

(D) 39 o ¥ 1S TEl
(E) 3T99Téd

85. Choose the odd pair of words. 35. =gl % foad gm 1 =9I H |

(A) Painter : Gallery AT IEEE RIS
(B) Actor : Stage (B) AfMar : Ow
(C) Mason : Wall e U : SN
(D) FEI.I'I'IIEI' : Field (D) pam : @
(E) Not attempted (E) A9
36. The number of in a relation is 36. fodi geg { $1 T Sl g9y
called the Cardinality of the relation. $1 HIfSafrdt sa1 T 2l
(A) Attribute (A) aqﬁag
(B) Tuple (B) &=UA
(C) Domain (C) sm+ o
AD) Degree RE R
(E) Not attempted (E) rsamfa
37. The number of real roots of 37. 3%-™07 = 9 F gATyH Tl <t HE '
32°-7x+7 = Q g ,l; ' T:El'[% ”
(A) O (A) O
(B) 2 E52E (B) 2
(C) 1 R (C) 1
(D) 4 (D) 4
(E) Not attempted (E) 3samiia

B -10-
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38.

39.

40.

41.

Four of the following three are alike in
p;-*trthLJlaJ" pattern and hence form a
group. Find the odd man out,

(A) square
(B) rhombus
(C) triangle
(D) rectangle

(E) Not attempted

A train of 320 meters length, is running
at a speed of 72 km/h. How much time
will it take to cross a pole ?

(A) 20 seconds
(B) 16 seconds
(C) 12 seconds
(D) 24 seconds
(E) Not attempted

If PAINT is coded as 74128 and

CG - CGL24

38. ﬁmﬁf@aaﬁﬁﬁ:ﬁq&ﬁmwﬁﬁ
U AY & 3 3H TN U HYE &1 2
gaen fig wifeu)

320 HieT A=l U TSl 72%/@_%
mfq & el W R | U @A I FA H I
T T @ 7 22218
(A) 20 &S

AB) 16 THe

,,-'i e 2
{J-fi

40. 72 PAINT I 74128 3 EXCEL %I

EXCEL is coded as 93596, then how 03596 % &7 § Hifed febam T 2, A1 3T
would you encode ACCEPT ? ACCEPT 3! $8 ifed Hal 7
(A) 455975 (A) 455975
(B) 455976 (B) 455976
(C) 455977 (C) 455977
(D) 455978 D) 455978
(E) Not attempted (E) F9FTEd
To which country did the 14% century | 41. 143*8&%@333@[%&@%% ?
traveller Ibn Battuta belong ? | (A) 3E
() Arab S| o) SR
(B) Africa [E55= (©) <
(C) China D) e
(D) Mangolia &)
(E) Not attempted
1

Www.mseducationtv.com
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= . Y > -
42. Where is the Rourkela Steel Plant 42. TICH T wiie FEl T B !
located ? (A) BT
(A) Chhattisgarh ,(Bi .2
(B) Odisha -
(C) Madhya Pradesh (C) HeTeH
(D) Uttar Pradesh (D) ITICY]
(E) Not attempted (E) 39T
43. Which of the following Gas is 43. Frefefaa § 3 SE-d g He 18 7w
responsible for Bhopal Gas Tragedy ? %+ %lQ fer 2 7
(A) Methyl Alcohol (A) Taumssr stemrad
(B) Helium E;é?'*m* (B) Elferam
(C) Neon hﬁ% () =
(D) Methyl Isocyanate D) Tyumse AsaEE-e
(E) Not attempted (E) AT
44. Inaclass of 42 students Nutan’s rank | 44. 42 e 6 s Fa o a4 =kl ¥
is 22 from bottom. What is his rank = T 2291 3| YWY § IHH ©H =2 7
from top ?
w“;:p (A) 24
= 0 =5 M)
B) 2 (B) 22 T+2d-1=4
Al (C) 23 (C) 23 ot o
Opss L
(D) 21 \aD)) 21
(E) Not attempted (E) 3w

45. Which of the following is a low grade 45, Tofafea g o FH-91 Ee=i groft =y o

brown coal ? BIAAT B 7

(A) Bituminous A) T

(B) Lignite B formmee

(C) Anthracite (C) Q:amg;_r

(D) Hematite (D) BHeTEe

(E) Not attempted (E) 3yamfag
B 12-
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47.

48.

49.

3 -
I
R

46.

In a certain code. ‘Kit Mit Fit’ means

. y» Zit Rit Kit’' means
‘Laborious lIs Dangerous’ and ‘Sit Fit
Rit" means

‘1 Am Laborious’

Dangerous Extremely
Painful’ then in that language what is
code for ‘Is’ ?

(A) Kit

(B) Zit

(C) Rit s e
(D) Data inadequate ;E

(E) Not attempted

If a and P are the roots of X2 —ax + b? =

then o? + B?is equal to
(A) a* - 2b?

(B) 2a* - b*

(C] az —

(D) a? + b?

(E) Not attempted

The population of a city decreased
from 25,000 to 24,500. Find the
percentage decrease.

(A) 2.5%

B) 5%

C) 2%

D) 3%

E) Not attempted

Which of the following poet wrote the
book ‘Akbar Nama’ ?

(A) Noor Jahan

(B) Jahangir

(C) Abul Fazl

(D) Mehrunnisa

(E) Not attempted

CG - CGL24

46. U fAf=r w4, Kit Mit Fit' &1 A4
‘ Am Laborious’ _%, ‘Zit Rit Kit" =l 72
—~Laborious Is Daﬂgemug' 7 3N ‘Sit Fif
Rit’ bl £} ‘Dangerous Extremely
_Painful’%, al 39 o o 1_3;% oo 12
R 7
(A) Kit

_B) Zit

(C) Rit

e

47. IR o I, ¥ -ax+b?=0FH g & dl
;19+[}23'7TW%
(A) a2 - 2b?
(B) 2a%—Db*
(C) a* -

48. UH Y& $! FHEEAT 25,000 ¥ TIH
24500@(@!9%%%@%%!

(A) 2.5% -f*af
(B) 5% 5
_€) 2%

49. Fefafiga § & fFa Hfa J v =
g ford! ot ?

(A) TR
E43E (B) SEMTR

AL (ef e F

-13-

www.mseducationtv.com

G Scanned with OKEN Scanner
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S0. Choose the pair in which the words | 50. 34 g H| T Hifu fan g% U 7

lw-:lr the ;;ﬂmf r;flatinnship to each o o1 A gay Tgd B A4l T AR L
other as the w ' i
words of the given pair b yrez T 3 |
bear. -
Energy : Joule : W
(A) Axe : Grind (A) EEE'I'E“-I : e
(B) Ammeter ;: Current (B) HHI : U
(C) Power : Ampere (C) vifa Ulu"‘iq{
(D) Resistance : Ohm \_{D) giauy : AW
(E) Not attempted (E) AT
S1. The Slide Rule was invented by 51. RS & I ATa=hI ar
(A) French Philosopher R Tl'ﬂT il
(B) William Oughtred E53E ) o ‘
(C) Napier Bone’ ‘ &l
e - 8553 “«C) It =
(D) Gottfried Leibniz I (D) ke et
(E) Not attempted (E) 3rwaTHa
52. Lakshman went 15 km to the West | 52. W& 394 = & 15 fHft ufim &1 3R
from his house, then turned left and | T, Bt irrq el 3 20 Tt == | T
walked 20 km. He then turned East @ ﬁ 3ﬁ'( 3:n_{ ﬁ ﬂ 3ﬂ_{
and walked 25 km and finally turning EIE : 3 P ;N
left covered 20 km. How far is he now 3 | STq gohl 20 fepet =61 @ a6 |
from his house ? maﬁﬂﬁmﬁﬁrﬁrq%?
(A) 15 km (A) 15 TerH -
(B) 20 km (B) 20 feprft = &;a
C) 25 km | (C) 25 Tl S
D) 10 km UB) 10 femei
E) Not attempted (E) JrofEd
53. The mixture of is called 53. F1 g 51 g HETal B
water gas. '
g @ CO IMHO (B
l 1 1 (A) CO and H,O (B) CO,and H,O (B) €2 L H,0
(C) CO,and H, (D) CO and H, (C) CO,3MH, upf'Co iy,
(E) Not attempted _ (E) 3TSanfae
B -14-

www.mseducationtv.com (¥ scanned with OKEN Scanner



- 5
o 1
-

54.

55.

56.

S7.

;/EBJ

In which of the following State
‘Kanha National Park’ is situated ?
(A) Uttar Pradesh

(B) Madhya Pradesh
(C) Bihar

(D) Kerala

(E) Not attempted

How many members of the Rajya Sabha

can be nominated by the President of
India ?

(A) 15 members
(B) 12 members
(C) 26 members
(D) 2 members

(E) Not attempted

L

53
;

g gt

The point on the supply curve at
which a firm earns normal profit is

called as

(A) Shutdown point
(B) Break even point
(C) Transition point
(D) None,of the above
(E) Not attempted

In order to facilitate the use of Indian
languages on computers, a common
standard for coding Indian scripts
called was developed in

India during mid 1980s.
(A) ISCII

INSCII

(C) INCII

(D) ANSI

(E) Not attempted

Www.mseducationtv.com

% (C) FTTAHITEHTS
B2 b) s

CG - CGL24

sq. Frefafaa 4 & fag o= § &2 TA
Ja fem 2 7
(A) FTCIEY]

56. 3 =k T a7 fag ford W T FH HHA
T P a1 2, I8 F FEd @ 7

P yreeTaA forg
(B) 5% 34 fag
(C) HhH farg
(D) I | § FI3 T4l
(E) 3uaTiHd
57. T T ARG WA h IYFNT =l G
% foru, W@ § 1980 & WHA o9& H WA

fafeat & foe v g 9 Fifen
faefia it 13 5™ a1 AT 9

(A) TSUHHIATIINTE
(B) ATSTATHHIHATHTS

(E) 39aTiEa

G Scanned with OKEN Scanner
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58. Accountant General (Accounts and

Entitlements), Haryana functions
under the

(A) Department of Expenditure
Government of India

(B) Reserve Bank of India

(C) Comptroller and Auditor General
of India

(D) None of the above
(E) Not attempted

99. In glycolysis process, glucose undergoes

partial oxidation to form
molecules of pyruvic acid.

(A) one (B) three
(C) two (D) four SHEE
(E) Not attempted 3] oA

60. To which quadrant does the point
(1, —2) belong ?
(A) 1

(C) III

(E) Not attempted

(B) II
(D) IV

61. In third generation, keyboards and

were used instead of punched
cards and printouts.

(A) Scanner
(B) Monitors
'(C) Memory card
(D) Modem
(E) Not attempted
What is the approximate playing time

of the full version of the National
Anthem of India ?

(A) 40 seconds
(C) 39 seconds
(E) Not attempted

62.

(B) 1 minute
(D) 52 seconds
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58. wETerETR (S v gA), A R
Sefrr el e 2 7
(A) SR TR T o7 feT
(B) wrdtg frad o
(¢ vTE % i d gEerariiE®
(D) I70 § | i3 A8l
(E) 3Tamféd

60.

dedt didt 4 9= F1S 3N filease & wH
7T H-ar 3N =T =T TR

ST 7|

(A) T

(B) Hif4ed
_AC) wHI FTE

—" oIy

AL (E YA

62. HId % USTH F U1 FE&H0 T 991 o
T fohaeT wHY o @ 7

61.

(A) 40 HehE B) 1 fime
(C) 39 Hehg \4Bf 52 Thg
(E) AT
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63.

64.

65.

]

In the context of macroeconomics.
Phillips Curve is a relationship
between the rate of

(A) Demand and Supply
(B) Inflation and Unemployment

(C) Unemployment and Supply
(D) None of the above

(E) Not attempted

The ‘Hanging Garden of Babylonia’
was built by

(A) Darius
(B) Hammurabi
(C) Alexander

(D) Nebuchadnezzar
(E) Not attempted

What 1s the shape of warning sign
board ?

(A) Square

(B) Circular -

(C) Triangular ;%

(D) Rectangular (=73

(E) Not attempted

When do we celebrate ‘World Water

Day’ ?
(A) January 22 (B) February 22
(C) March 22 (D) April 22

(E) Not attempted

Which Article provides for the Office
of the Election Commission of India ?

(A) Article 326  (B) Article 368
(C) Article 324 (D) Article 328
(E) Not attempted

= by &
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(D) 39U ° 8 HIg T8
(E) 9T

64.

| 65. <aTaHt THd AIS I AHL FT 2 7

(A) TFTRR
LAB) AT
(OREEILIE
(D) ITIATHR
E) AWITH
66. =H ‘T 9 fea@ Fa 7Ad 2 ?
(A) 22 Sl (B) 22wl
| ey 22 e (D) 22 3
| (E) 3TvETHd
67. THu 3= T YN & IAE M +
FETAE H IGIH 2 7
| LA 3TT99C 326  (B) 3II=9% 368 ~
(C) 39=96 324 (D) =g 328 *
(E) 3rwfEd
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69.

70.

71.

Pointing to a man in photograph, a
man said to a woman, ‘His mother is
the only daughter of your father’. How
1s the woman related to the man in the
photograph ?

(A) Sister
(C) Wife
(E) Not attempted

(B) Mother
(D) Daughter

Which of the following is based on
fifth generation computing device ?

(A) Vacuum tubes

(B) Integrated Circuit (IC)
(C) Transistors

(D) Artificial Intelligence (Al)
(E) Not attempted

The change in the optimal quantity
of a good when the purchasing power
changes consequent upon a change in
the price of the good is called

(A) Laws of Demand =] 5]
(B) Income Effect O
(C) Long Run

(D) None of the above

(E) Not attempted

What term was used by the Marathas
to refer to the 25% of land revenue
claimed by the Zamindar in the
Deccan ?

(A) Jizya

(B) Zarib

(C) Sardeshmukhi
(D) Chauth

(E) Not attempted

69. T T F—a1 qiadl 1@ % HALT
feareg w anurfiE 2 7

(A) d9H S[EH

S5 (C) FIER -
(E) 35amtad
70. v fret ag 1 Fiwa | TREdd 24 5
YRuTREEY 7 WfF o 9REdd 2T 8,
] %l 35CaH HAT H GREdd I 1 FHad
55 ol %) -
(A) HTT &1 a9
\_{B] T H Y9E
(C) 2T FFafy
(D) 39U H § HiI3 T2
(E) 3u=iiEa
71. TUSI 5N ¥4 § FHieR R gET e s
a1 W T F 25% F gehfa w9

¥ fore P Y=g 1 seme Ry o 7 O
(A) S
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2%
72. The Coriolis force is caused by the 72. iAo @@ fHeEh H e 7
(A) Rotation of the earth (A) et T Ui
(B) Revolution of the earth \_B) E!EEfT 1 TIGERAYT
(C) Inclination of the earth (C) I]?ﬂaf oh1 FHhTd
(D) Both (A) and (B) (D) (A) 3R (B) M ou
(E) Not attempted (E) AT ’gf’ >
A1
73. Neelu bought 150 dozens of pencils at 73. :ﬁﬁﬁ Z 20 Ufd Eﬁh H 2 A T 150 Eﬁh 7T
220 a dozen. He sold them at % 2.5 per et whtdl | 7 TR 2 2.5 0 A 2
pencil. Find the profit or loss percent. ay S | ST AT 1 e F1d ml S
(A) 40% (B) 45% (A) 40% (B) 45% 'I}_L 3
(C) 35% (D) 50% (C) 35% (D) 50% )b
(E) Not attempted (E) 35T 2 L9
74. In Python, a comment starts with 74. Y H, T feoquft g q=
(A) # (B) ## gt 2l
(A) # (B) ##
(€)% D) @ ERra (©) % D) @
(E) Not attempted Ef4E (E) AT
75. Choose the missing term out of given | 75. ’j@?ﬂ 4, 8, 16, 32, 64, ?, 256 & ot
alternatives for the series. feu MU fqepcqi 9 B 9 99 gMHT |
4,8, 16, 32, 64, ?, 256 [,{'A)/IQB
(A) 128
(B) 98
(B) 98
(€) 86 (C) 86
(D) 106 (D) 106
(E) Not attempted (E) FYATTHA
Which image is on the back of 76. WA g1 (D) (%) S % 20 ¥
Rs. 20 notes of Indian currency note Al F 4 HA-Ht Bfa 7 ?
(New) Series ? ) T B e
(A) Ellora Caw!.:s | 3 (B) TR F 1 2t »
(B) Stone chariot Hampi %
i (C) T &t amd ¢
(C) Rani Ki Vav E44E
(D) None of the above (D) I H H HIE
(E) Not attempted (E) AT
-19- B
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77.

78.

79.

80.

India’s first Aero Sports Centre was
opened in which place of Haryana ?

(A) Manesar
(B) Narwana
(C) Loharu

(D) Narnaul

(E) Not attempted

What is the value of

(a+b)® + (a — b)® + 6a(a? - b?) ?
(A) 6a’ (B) 8a?
(C) 10a’ (D) 12a3

(E) Not attempted

What was the Sex ratio of India
according to 2011 Census ?

(a+b)? + (a — b)® + 6a(a? — b?) FT AH
w2 7

78.

(A) 6a° (B) 8a?

(C) 10a° (D) 12a®

(E) FAYITHA

79. 2011 H VAT & HTHAR HRA HI

(A) 940 b (A) 940
(B) 943 = EL@BT 943
(C) 950 C) 950
(D) 972 D) 972
(E) Not attempted (E) 3791

This city of Haryana is called as nano
city

(A) Jhajjar i [E]
(B) Palwal &4 E
(C) Gurugram
(D) Panchkula

(E) Not attempted
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English Language

pirection Q. No. 81 and 82 : Fill in the

blanks by choosing the right option from
the four alternatives given.

P s1.

The picture is the wall.
(A) in (B) under
L€ on (D) at
(E) Not attempted
82. There is a bed my room.
A in (B) on
(C) under (D) over

(E) Not attempted

83. Choose the right option to form a

meaningful sentence.
in / we / of / science / the age / live

(A) We in the age of science live.
(B) We live the age of science in.
(C) The age of science in we live.

P} We live in the age of science.
(E) Not attempted

84. Choose the word which is nearest in
meaning (synonym) to the given word.
Foe

[=]
L) Enemy
(B) Foolishness E4E
o) Friend

(D) Fearless
(E) Not attempted

Choose the right option to fill in
the blank with appropriate active or
passive verb forms.
Sam the car.
(A) is repaired x
(B) has been repaired »
\_lﬁr repaired
(D) was being repaired
(E) Not attempted

www.mseducationtv.com

86. Identify the error and choose the

right option from the four alternatives

given below :

[ am here for teach you English.

(A) I am here too teach you English.

(B) I am here at teach you English.
€) I am here to teach you English.

(D) I am here in teach you English.

(E) Not attempted

87. Choose the opposite word (antonym)

to the given word.
5] Handsome
(A) Pretty

=5ELe) Ugly
(E) Not attempted

(B) Cute
(D) Attractive

88. Choose the correct spelling of the given
word.
Vacabulary
A Vocabulary (B) Vecabulary
(Ck Vocabuelary (D) Vacabulery

(E) Not attempted

Choose the correct meaning of the
following idioms and expressions.

A man of letters.
(A) a hidden enemy =
_B) a scholar

(C) a useless person

(D) a person in uncomfortable situation
(E) Not attempted

Choose the correct indirect form of
. the given sentence.
She said “I have done my work”.
(A) She said that | had done my work.
(B) She said that she has done my
| work.
(C) She said that | had done her work.

(D) She said that she had done her
work.

(E) Not attempted

(¥ scanned with OKEN Scanner



fa=t

1. Ghmfa;;ﬁﬁ;ﬁqmﬁﬁaﬂ‘wﬂm 906, l & HH 7 A B | ‘A H wiy
ﬁ%mmﬁuwﬁﬁ,ﬁ e/ ) wHHE TSNS H Eh R |
LA SIS (B) e ) e m A
(C) wraTe (D) &7 & i$ 7& (C) WfersaeehTefi
(B) i (D) T & Fré T

92, ﬁ?ﬁﬁ%dtﬂl{ﬂfﬁﬁﬁ%mwm (E) AgamfEd
8 3R U HEd § |
TS oy 97. ‘Hfey doed veg 2, IH AT 3
(C) T (D) T (A) HTT (B) 311g
(E) A9y e 3@ (D) 3AH

93. “IN WA 99 W [W” 77 I (&) StnoT
T T e R | 98. TEYATHS oW % fohad g B B 7
M)ﬁfﬁlﬁ%‘ (B) HAfv=Tmam=e « (A) @1 B &=
(C) §999=% . (D) wyHaEH (©) =R (D) 7
(E) S (E) 3T

94, <TqEY
ke @WW;,IWWW 99. ‘awF wh freim vz 3
(A) Teui” (B): d%rg i i Sl i
(C) TEuImE (D) TS ! (C) T (DY ShTer
(E) 3aiiaa (E) 3T5=nfaa

95. ‘T, H, AT W’ ; 39 @|fE 5y SO0 ﬁ’%mﬁ‘w:m%waﬁ‘-‘rﬁ
=9 F&d 7 | - T HRE & A 3 F |
(A) Bff UBf Arfirag — _tA] o (B) =
(C) Hadf (D) 9if¥feaa g (C) =i (D) Hay
(E) 3Tuanfyq El i (E) 3w
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